\$159,218.45



### **Missouri Department of Transportation Contractor's Pay Estimate Summary**

Pay Estimate Created Date: October 15, 2025

Progress Estimate Number 3	Contract II Prime Con		6-G04 Company, LLC	Pay Period Pay Period		October 1, 2025 October 15, 2025	Original Contract Amount Net Change Order Amount Current Contract Amount	\$928,831.00 \$0.00 \$928,831.00				
Approval Date								By User				
October 15, 2025	Generated and Approved (and should be considered Draft) at the Project Office Leve							jonesl7				
October 16, 2025	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level							evendj1				
October 20, 2025			Re	eviewed and	Approved	at the Central Of	fice Controllers Office Level by	ramses1				
Original Completion	on Date	Current Con	npletion Date	Actual	Completio	% of Current Contract Amount	Amount Complete					
December 1, 2	025	Decembe	er 1, 2025				20.69%					
	Co	ntract Information	onal Dates				Milestones					
Date Description	Original C	Completion Date	Current Comp	letion Date		No Milestone	s Exist for Contract					
Acceptance Date												
Awarded Date	June 5, 20	)25	June 5, 2025									
Letting Date	May 16, 20	025	May 16, 2025									
Notice to Proceed Date	July 7, 202	25	July 7, 2025									
Work Began Date												

Contract Total Pay For Estimate No. 3										
		This Estimate	Previous	To Date						
250516-G04										
	Total Posted Items Pay	\$159,218.45	\$32,970.00	\$192,188.45						
	Gross Item Adjustments	\$0.00	\$0.00	\$0.00						
	Incentive	\$0.00	\$0.00	\$0.00						
	Disincentive	\$0.00	\$0.00	\$0.00						
	Liquidated Damage	\$0.00	\$0.00	\$0.00						
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00						
			\$32,970.00	\$192,188.45						
<b>Contract Total Pa</b>	ayable This Estimate:	\$159,218.45								

## Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J8S3245	0010	2022010	REMOVAL OF IMPROVEMENTS	LS	\$26,500.000	0.400	\$10,600.00
	0020	2035000	UNCLASSIFIED EXCAVATION	CUYD	\$45.000	191	\$8,595.00
	0030	2036000	COMPACTING EMBANKMENT	CUYD	\$325.000	10	\$3,250.00
	0800	6161005	CONSTRUCTION SIGNS	SQFT	\$8.000	495	\$3,960.00
	0090	6161025	CHANNELIZER (TRIM-LINE)	EA	\$20.000	65	\$1,300.00
	0100	6161030	TYPE 3 MOVEABLE BARRICADE	EA	\$210.000	11	\$2,310.00
	0110	6161040	FLASHING ARROW PANEL	EA	\$635.000	1	\$635.00
	0140	6181000	MOBILIZATION	LS	\$52,000.000	0.250	\$13,000.00
	0260	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	LS	\$12,700.000	0.250	\$3,175.00
	0310	8061019	SILT FENCE	LF	\$4.450	207	\$921.15
	0330	9029901	MISC.RADAR DETECTION SYSTEM	LS	\$100,000.000	1	\$100,000.00
	0390	2161500	REMOVAL OF SEAL COAT OR POLYMER WEARING SURFACE	SQFT	\$1.350	8,498	\$11,472.30
Project J8S32	245 - Total						\$159,218.45

## Overall - Total

### **Contract Adjustments This Estimate**

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

No Data Available

Revision 10/17/2025 Page 1 of 8



## Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					Co	ontract Project Informa	ation	
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work	
J8S3245	FAS - S605(002	Bridge rehabilitation and add turn lanes	CC, J	CHRISTIAN	over Route 65 and to	urn lanes at intersection of	Routes CC and J	
JSR0283	FAF 14-1(36)	Bridge Rehabilitation	160	CHRISTIAN	over Finley River			
Totals b	y Job N	ımbers						
J8S3245		l Item Pay Item Adjustmen	its Gross It	em Pay	This Estimate \$159,218.45 \$0.00 <b>\$159,218.45</b>	Previous \$28,200.00 \$0.00 \$28,200.00	To Date \$187,418.45 \$0.00 \$187,418.45	
	Incentive Disincentive Liquidated Damages Other Contract Adjustments			\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00		
JSR0283		d Item Pay Item Adjustmen	its Gross It	em Pay	This Estimate \$0.00 \$0.00 <b>\$0.00</b>	Previous \$4,770.00 \$0.00 \$4,770.00	To Date \$4,770.00 \$0.00 <b>\$4,770.00</b>	
			ments		\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	

Revision 5/29/2025 Page 2 of 8





# Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

## Exceptions (Discrepancies) This Estimate Period No Exceptions Exist on Contract

Revision 5/29/2025 Page 3 of 8



# Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Project	Category	d Values	s are base	d on Report Generated date and can differ from the poste  Description	ed amount Bid	at the tir	ne the Estim Total	nate was Unit	Total	Unit Price	Total Value POSTED
No.	Category	No.	Code	Безоприон	Quantity	Change Order	Current Quantity	OTIL	Posted Approved Qty	Office Frice	To Date (See report generated date)
J8S3245	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.40	\$26,500.00	\$10,600.0
	0001	0020	2035000	UNCLASSIFIED EXCAVATION	191.00	0.00	191.00	CUYD	191.00	\$45.00	\$8,595.0
	0001	0030	2036000	COMPACTING EMBANKMENT	10.00	0.00	10.00	CUYD	10.00	\$325.00	\$3,250.0
	0001	0040	2037075	COMPACTING IN CUT	2.20	0.00	2.20	STA	0.00	\$4,000.00	\$0.
	0001	0050	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	227.00	0.00	227.00	SQYD	0.00	\$40.00	\$0.0
	0001	0060	5021309	CONCRETE PAVEMENT (9 IN. NON-REINFORCED 15 FT. JOINTS)	227.10	0.00	227.10	SQYD	0.00	\$155.00	\$0.
	0001	0070	6083008	8 IN. CONCRETE MEDIAN STRIP	12.40	0.00	12.40	SQYD	0.00	\$318.00	\$0.0
	0001	0800	6161005	CONSTRUCTION SIGNS	614.00	0.00	614.00	SQFT	495.00	\$8.00	\$3,960.
	0001	0090	6161025	CHANNELIZER (TRIM-LINE)	65.00	0.00	65.00	EA	65.00	\$20.00	\$1,300.
	0001	0100	6161030	TYPE 3 MOVEABLE BARRICADE	11.00	0.00	11.00	EA	11.00	\$210.00	\$2,310.
	0001	0110	6161040	FLASHING ARROW PANEL	1.00	0.00	1.00	EA	1.00	\$635.00	\$635.
	0001	0120	6161099	CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED / RETAINED	4.00	0.00	4.00	EA	4.00	\$3,800.00	\$15,200.
	0001	0130	6172002	CONCRETE TRAFFIC BARRIER, TYPE B (MOMENT SLAB)	207.00	0.00	207.00	LF	0.00	\$266.00	\$0.0
	0001	0140	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.50	\$52,000.00	\$26,000.
	0001	0150	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	30.00	0.00	30.00	LF	0.00	\$38.00	\$0.0
	0001	0160	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW PREFORMED THERMOPLASTIC PAVEMENT MARKING, COMBINATION STR/LT/RT	1.00	0.00	1.00	EA	0.00	\$445.00	\$0.0
	0001	0170	6200027		2.00	0.00	2.00	EA	0.00	\$765.00	\$0.0
	0001	0180	6200030	PREFORMED THERMOPLASTIC PAVEMENT MARKING, WORD (ONLY)	2.00	0.00	2.00	EA	0.00	\$765.00	\$0.0
	0001	0190	6200042	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 12 IN WHITE, YIELD LINE TRIANGLES	9.00	0.00	9.00	EA	0.00	\$45.75	\$0.
	0001	0200	6205301B	TEMPORARY REMOVABLE MARKING TAPE 4 IN., WHITE	1,576.00	0.00	1,576.00	LF	0.00	\$3.65	\$0.
	0001	0210	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	1,003.00	0.00	1,003.00	LF	0.00	\$1.15	\$0.
	0001	0220	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	503.00	0.00	503.00	LF	0.00	\$1.15	\$0.
	0001	0230	6205906A 6207001	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	28.00	0.00	28.00 825.00	LF	0.00	\$16.50	\$0.0
	0001	0250	6209903	PAVEMENT MARKING REMOVAL	825.00	0.00	56.00	LF	0.00		\$0.00
	0001	0260	6209903	MISC.ISLAND MARKING FACE & TOP OF CURB, WHITE	56.00	0.00		LS	0.00		
	0001	0200	8025006	CONTRACTOR FURNISHED SURVEYING AND STAKING MULCHING	1.00	0.00	1.00	ACRE	0.00	\$7,000.00	\$3,175.00 \$0.00
	0001				0.20		0.20	ACRE			
	0001	0280	8051000A	SEEDING - COOL SEASON GRASSES SEDIMENT REMOVAL	0.10	0.00	0.10		0.00	\$4,750.00	\$0
	0001	0290	8061016 8061017				0.00 2.00	CUYD	0.00	\$67.00	\$0
	0001	0300		TEMPORARY SEEDING	0.10		0.10		0.00	\$3,200.00	\$0.
	0001	0310	8061019	SILT FENCE	207.00	0.00	207.00	LF	207.00	\$4.45	\$921
	0030	0320	8064140	TYPE 3B EROSION CONTROL BLANKET	345.00	0.00	345.00	SQYD	0.00	\$5.75 \$100.000.00	\$0.
	0040	0330	9029901	MISC.RADAR DETECTION SYSTEM  CONCRETE FOOTINGS, EMBEDDED	1.00 0.85	0.00	1.00 0.85	LS	0.00	,,	\$100,000
	0040										\$0
	0040	0350	9031220	PIPE POSTS	364.00	0.00	364.00	LB LF	0.00	\$32.00 \$65.00	\$0
	0040		9031280	2.5 IN. PSST POST - 12 GA.	16.00	0.00	16.00		0.00		\$0.
	0040	0370		SH-FLAT SHEET	25.00	0.00	25.00	SQFT	0.00	\$45.00	\$0
	0070	0380		ST-STRUCTURAL	300.00	0.00	300.00	SQFT	0.00	\$45.00	\$0.
	0070	0390	2161500	REMOVAL OF SEAL COAT OR POLYMER WEARING SURFACE	11,331.00	0.00	11,331.00	SQFT	8,498.00	\$1.35	\$11,472
	0070	0400	2165000	REMOVAL OF EXISTING EXPANSION JOINT SEAL OR SEALANT	92.00	0.00	92.00	LF	0.00	\$18.50	\$0
	0070	0410	2169902	MISC.PARTIAL REMOVAL AND PLUGGING SLAB DRAIN	8.00	0.00	8.00	EA	8.00	\$440.00	\$3,520
		0420	6239905	MISC.HYBRID POLYMER CONCRETE (HPC) OVERLAY	1,259.00	0.00	1,259.00	SQYD	0.00	\$157.00	\$0.
	0070	0430	7040101	SUBSTRUCTURE REPAIR (FORMED)	150.00	0.00	150.00	SQFT	0.00	\$202.00	\$0.
	0070	0440	7040102	SUBSTRUCTURE REPAIR (UNFORMED)	350.00	0.00	350.00	SQFT	0.00	\$175.00	\$0.
	0070	0450 0460	7040104 7110200	HALF-SOLE REPAIR  PROTECTIVE COATING - CONCRETE BENTS AND PIERS	250.00	0.00	250.00	SQFT	0.00	\$48.00 \$16,200.00	\$0. \$0.
	0070	0470	7171002	(EPOXY) PREFORMED COMPRESSION SEAL	92.00	0.00	92.00	LF	0.00	\$90.00	\$0.
Project J	8S3245 - To	tal Value	Posted to D	late as of Report Generated Date							\$190,938.
	0001	0480	6161005	CONSTRUCTION SIGNS	2,013.00	0.00	2,013.00	SQFT	0.00	\$1.25	\$0.0
JSR0283											
JSR0283	0001	0490	6161008	ADVANCED WARNING RAIL SYSTEM	2.00	0.00	2.00	EA	0.00	\$139.75	\$0.0

Revision 5/29/2025 Page 4 of 8



# Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract ID	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
250516-	JSR0283	0001	0510	6161040	FLASHING ARROW PANEL	2.00	0.00	2.00	EA	0.00	\$508.00	\$0.00
G04		0001	0520	6161099	CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED / RETAINED	2.00	0.00	2.00	EA	0.00	\$7,000.00	\$0.00
		0001	0530	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.11	\$45,000.00	\$4,770.00
		0001	0540	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	0.00	\$500.00	\$0.00
		0070	0550	2164500	REMOVAL OF EXISTING EXPANSION JOINT & ADJACENT CONCRETE	47.00	0.00	47.00	LF	0.00	\$350.00	\$0.00
		0070	0560	2169903	MISC.Remove and Replace Barrier Curb	8.00	0.00	8.00	LF	0.00	\$630.00	\$0.00
		0070	0570	7034214	CLASS B-2 CONCRETE	6.00	0.00	6.00	CUYD	0.00	\$3,800.00	\$0.00
		0070	0580	7040101	SUBSTRUCTURE REPAIR (FORMED)	60.00	0.00	60.00	SQFT	0.00	\$250.00	\$0.00
		0070	0590	7049903	MISC.Barrier Curb Repair	24.00	0.00	24.00	LF	0.00	\$600.00	\$0.00
		0070	0600	7101000	REINFORCING STEEL (EPOXY COATED)	420.00	0.00	420.00	LB	0.00	\$3.00	\$0.00
		0070	0610	7110200	PROTECTIVE COATING - CONCRETE BENTS AND PIERS (EPOXY)	1.00	0.00	1.00	LS	0.00	\$18,500.00	\$0.00
		0070	0620	7172001	STRIP SEAL EXPANSION JOINT SYSTEM	44.00	0.00	44.00	LF	0.00	\$750.00	\$0.00
	Project JS	SR0283 - To	tal Value	Posted to I	Date as of Report Generated Date							\$4,770.00
250516-G	04 Overal	l - Total Val	ue Poste	d to Date as	of Report Generated Date							\$195,708.45

Revision 5/29/2025 Page 5 of 8



## Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

### The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work,

Project: J8S3245

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Posting Sequence No.	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0010	2022010	REMOVAL OF IMPROVEMENTS	10/6/25	10/8/25	1	0.40	LS		Various		Various		Removed guardrail, sawcut & pavement
0020	2035000	UNCLASSIFIED EXCAVATION	10/7/25	10/8/25	1	191.00	CUYD	Turn lane widening to NB 65	194+50.00 LT		196+68.77 LT		
030	2036000	COMPACTING EMBANKMENT	10/7/25	10/8/25	1	10.00	CUYD	Turn lane widening to NB 65	194+50.00 LT		196+68.77 LT		
080	6161005	CONSTRUCTION SIGNS	10/6/25	10/8/25	1	495.00	SQFT	Along CC, Hwy 65 SB & NB	Various		Various		
090	6161025	CHANNELIZER (TRIM-LINE)	10/6/25	10/8/25	1	65.00	EA	Used along CC EB & SB exit ramp to go east on to CC/J	Various		Various		There are 90 on site.
100	6161030	TYPE 3 MOVEABLE BARRICADE	10/6/25	10/8/25	1	11.00	EA	Closing EB Lane before the DDI, Closing EB Lane going into the DDI and closing turning lane from SB EB exist ramp to EB on CC/J	Various		Various		
1110	6161040	FLASHING ARROW PANEL	10/6/25	10/8/25	1	1.00	EA	in the EB closed lane, west of the intersection of of 21st $\&$ CC	Various		Various		
140	6181000	MOBILIZATION	10/9/25	10/10/25	1	0.25	LS		Various		Various		2nd payment - 10% of contract to achieved.
260	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKI	10/2/25	10/8/25	1	0.25	LS	EB bridge at CC turn lane to head NB on 65	STA 194+45.60		STA 8+34.95		
310	8061019	SILT FENCE	10/8/25	10/9/25	1	207.00	LF		194+45.56 LT		195+00.00 LT		
330	9029901	MISC.	10/9/25	10/10/25	1	1.00	LS	Installed EB lane and WB lane before bridge	Various		Various		
390	2161500	REMOVAL OF SEAL COAT OR POLYMER WEARING SURFACE	10/9/25	10/10/25	1	8,498.00	SQFT	CC/J bridge	Various		Various		Paid out 75% of the removal of the wearing surface

The information below this line are details for Construction Signs (if applicable).

No Data Available

Revision 6/5/2025 Page 6 of 8



## Line Item Adjustments by Estimate

Oct 21, 2025

Contract ID: 250516-G04

No Data Available

# MoDOT

## **Contract Adjustments for Contract -** 250516-G04

There are no contract adjustments to display for this contract.

Revision 5/29/2025 Page 8 of 8